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Practice paper, AS Level
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Critical points are 3, 3, 1, 3
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Similarly for other intervals to give solution

{ : 3} { : 3 1

x x x x x

x x x x x

x x x

f x x x x x

x

x f x

x x x x

+ + < + +

+ + + − + >

+ + − >

= + + + − >

= − − −

> ⇒ >

< − ∪ − < < − } { : 3}x x∪ >

 

 

2 a tan
2

x
t =  

 

2

2 2

2

2 2

2 2

2

1 2
cos ,sin

1 1

2sin 5cos 2

2 1
2 5 2

1 1

4 5 5 2 2

3 4 7 0

t t
x x

t t

x x

t t

t t

t t t

t t

−
= =

+ +
− =

−
− =

+ +
− + = +

+ − =

 

 

 b (3 7)( 1) 0t t+ − =  
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 b Two tangents intersect at 0y =  
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4 c Let  be the point of intersectionA  
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Volume of filament available is 

1.35g/cm

1000g 1 10000
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1.35g/cm cm 263

Maximum number of dice that can be 

made is 38
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5 d The answer is an overestimate as  

  we are assuming there is no waste.   

  

 

 

  


